M4 E Comomed Coders (4et) s

17P/239/22

SetNo: 1 Question Booklet No ..o,
(To be filled up by the candidate by hiue/black ball-point pen)

5

Roll Na.
Roll No.

{Write the digits in words) %“g

Serial No. of OMR Answer Sheet ...............

Day A1 DAD .o (Signature of Invigilator )
INSTRUCTIONS TO CANDIDATES
(Use only blue/black balk-paint pen in the space sbove and on both sides of the Answer Sheet )

1. Within 30 mivutes of the issue of the Question Booklet, chieck the Question Bookletto ensure that it
mﬁimwmm“mﬁum_ e/question is missing, In case of

klet bring it to the notice of the gilstiors immediately to obtain
Question Booklet. : -3
2. Do notbring any loose paper, written or blank, inside the Examination Hall excepy the Admit Card
without ity envelope. o )

3. Asy Answer Sheet is given. Jt should not be folded or mutilated A second Answer Sheet
mnw On{rnh.dmrm_ﬁﬂ'hzwm &

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space
provided above, :

‘5. On the front page of the Answer Sheet, write by pen yoiir ‘Roll Number in the space
provided at the top, and by darkening the circles at the bottom. Also, wherever applicable,
write the Question Booklet Number and the Set Number in appropriate places.

6. Nooverwriting isallowed in the entries of Roll No., Question Booklet No. and Set No. (if any)
on OMR sheet and also Roll No. and OMR sheet No, or the Question Booklet.

7. Any change in- the aforesaid entries is to be verified by the invigilator, otherwise it will bo
taken a3 unfair means, .

8. Each question in this Bookiet is followed by four alternative answers. For each questlas, you
are fo record the correct option on the Answer Sheet darkening thé appropriate cirele in
the corresponding row of the Answer Sheet, by penr as mentioned in the guidelines
given on the first poge of the Answar Shest.

9. For each questicn, darken only one olrele m-ﬁ&ﬁuﬂhm.ﬁm darken more than one circle
or darken a circlc partially, the answer will be treated as incorrect,

10. Note that tie answer once filled in ink oannot be changed. If you do not wish to '
leave all the circles in the cormesponding row blank (such atic :riil bt] nwﬂ;ummm?

11. For rough work, use the inner back page of the title cover and the blank page at it end of this Booklet.
12. Deposit evly the-OMR Answer Sheet st the eng est.
13, You are not permitied ta leave the Examination Hall until the end of the Test,

14, 1fa candidate attempts to use any form of unfair means, he/she shall be fiable fo such puni«
the University may detérmilng af Miwasonjyvim /her. o such punishment as

[ Swgw Pl B 3 iR araor-T8 = R g §
Total No. of Priuted Pages ; 86
73,

AL SEAL SEAL SEAL SEAL SEAL

AL BEAL SEAL E’Eﬁt SEAL SEAL
AL SEAL SEAL SEAL SEAL
AL BEA| SEAL SEAL FEAL SEAL



ROUGH WORK
T EH.

ropie
L



M.A Ecomoomes Code o, @GO
g 17P/239/22 (1)

No. of Questions/swi ) siewr : 120

Thme/ S8 : 2 Hours!/ V81 Full Marks /o ; 360

Note : (1) Attempt as many questions as you can. Each question carrics 3 (Three)
marks. One mark will be deducted for each incorrect answer

Zero mark will be awarded for each unattempted question,
At vl B W = W et s e 3 () set wid

S e I b R O SiE BT T | TS R YW W
WIS 5 g |

(2) If more than e alerimive siswers geem to be approximate to the
correst answer, choose the closest one.
aﬁwﬁm%ﬁﬂmmnﬁm%ﬁmmﬁ a'iﬁmmwﬁm
3 S

1. Ommmgsrmmmgmemwhmmmmm& money outlay in-
creases his equilibrium point moves to
(1) A higher isoquant
2) A!uwmanquam
(3) Remains unchanged on RESEME Sokgoums .
(4}Mmmtnﬂuleﬁmwnﬂhemmm

;:;ﬁwm%n mm%%wmiq&u}mtzﬂmﬁgm

(D%tﬁmﬁraﬁm

Q@R PN w R mmmen
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2.

In & production process, the input combination has 30 per cent of fixed assets,
40 per cent raw materials and 10 per cent labour, The quantity of all other
innputs except fixed assets has been doubled. The production process would be

subjected to

(1) Returns fo scale

{2) Law of variable proportions
(3) Decreasing returns

{4) Increasing retums

T TEeA YR § e wivem i 30 v @R ot €, 40 fowa =
et @ 10. yhw o ¥ | fRR sieeRvt @ o s aft s g5

A ) ¥ | IR R e
(1) oy % whtedi & %
(2) e sa & Faw @

Average variable cost cWIve
(1) Slopes downwards

(2) Slopes upwards, then remains constant and then falls. |
(3) Slopes downwards at first and then upwards &

(4) Parallel to X-axis

s TiEdwie T 96

(1) 3 B e 7o g |
(1)miﬁlm‘ﬁ‘!ﬂ.ﬁﬁﬁt'ﬁmttimﬁﬁmt
(3)@ﬁﬁwmﬁmuﬂﬁamqm¢
(4}};-3@“#%&&1

(2)
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The vertical distance between Totdl Yariable Cost (TVC) and Total Cost (TC)
isequalto

(1) Marginal Cogt{MC)

(2) Average Varisble Cost (AVC)

(3) Margina] Fixed Cost (MFC)

(4) Total Fixed Cost (TFC)

¥ sftedfte v (TVC) @ oo (TC) 3 frer % sy 35 womwe et &
(1) Wira wPm (MC) %
(2) shuat ahadriter seme (AVC) %

(3) ¥ fa@R wFm (MEC) %
ﬁ”ﬁmm m}""‘"" ok R [ e

Shut-down point for a firm is® sffoedion wharejis
(1) mwlp- ve[aﬁ

""‘\‘...{-r

(2) Average Revenue > Average Cost
(3) Average Revenue =Average Varisble Cost
(4) Average Revenue >A¥ﬂ'&gﬁ Varinble Cost

e gy

wmﬁ%wmﬁaﬁmﬂﬁﬁ [ﬁ*ﬁ}ﬂﬁﬁtw

(1) e 31 = shgaamm RO
(2) oftew oma > s mem
(3) 3t m = 3w sfadwle wwm

(3)
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6. In price-discrimination, a monopolist lowers the price at the market where
there is '

(1) Higher elasticity (2) Lower elasticity
(3) Expensive factor price (4) Cheap factor price
Hog Rz, v TR 3 awem # S v s § sl 6 R
(1) = win B A (2) s i & A
(3) vt g Ea (4) sl wm B
7. The kinked demand curve theory explains that even when the demand condi-
- tions ———the price ——.
(1) Change, changes (2) Change, remains stable
{3) Remain stable, changes {(4) Remain stable, rise
ﬁjﬁﬂqﬁﬁﬁaﬁmmtﬁimmwﬁn— el &, g ——
2 2 e
(1) wiafin, whafia (2) dhafita, flr
(3) fed, et (4) e, A9l

8, Anupwardsloping demand curve can be expected for
(a) Giffen goods |

(b) Consumer goods

(¢) Precious goods

of these statements

(1) only (8) 15 true (2) only (b) is true
(3) (a) and (c) are true {4) only (c)is'true

(4) (Continted)
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.  TheLawof Equi-marginal utility states
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10.

Factor

[soquants shown in the above diagram exhibit
(a) Perfect substitutability of factors

(b) Perfect complementarity of factors

(¢) Fixed proportion production function

(d) Variable proportions produiction function

(1) (a) and (b) only
(2) (2)and (c) only
(3) (¢) and (d) only
(4) (b) and (c) only

e fom 3 weieatte o6 e &
(a7) Tml % W Y T

(5) TRl & WEA 0 YR |
(%) TO TR S HH
(7) ST SFT} o T B

(1) ¥ () ™0 (3)
(2) ¥ () T (V)
(3) ¥ (®) 70 (3)
(4) B () e ()

(6)
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11. Inmeasuring price elasticity

12,

(1) price s 2 dependent variable and quantity is an independent variable
(2) price is an independent variable and quantity is a dependent veriable
(3) Fiﬁﬂmd-quanﬂwboﬁmeepmdmtvariabl_es

(4) price and quantity both are dependent variables

PR HE AR o
(1) ¥ Fnde = o e ey o d
(2) e o R 0w o Ao d
(3) ®wa & Tm 2 wmeer = ¥

(4) e o v A Febr e

In which of the ful]amug mdusuy structure is the muy of new firms the most
dlfflclllt? + g i

(1) Puremonopoly - - -. . onviu v,
(2) Oligopoly

(3) Mmopo!hﬁc-mﬁhion

(4) Pure mtnpetition

mmﬁmﬂﬁﬁaﬁwﬂwmmmﬁaﬂmh

(1) o et ,

(2) SR "~ v iy e

(3) wTOeTS SR

(4) g sy T
v

m ) (Tt Over)
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13, The demand curve confronted by the individual purely competitive firm is

14.

(1) relatively elastic, that is, the elasticity coefficient is greater than unity
(2) relatively inelastic, that is, the elasticity coefficient is less than unity
(3) perfectly elastic

(4) perfectly inelastic

@wﬁamﬁgaﬁdewuhaﬁwmﬁwmi

()) GETEES %9 ﬁﬁiﬂﬁﬂaﬁﬁ#ﬁﬁéﬁ#mmmww%m
(2) TEATF B} AR i i ) i 5 1o e O W

(3) Yefern @R
(4) qoio STemr

The producer will substitute capital for labour till he reaches that point of

isoquant at which

{1) the printﬂfmcgwdhcpmduoesequaluwagemte

(2) marginal rate of technical substitution equals marginal revenue

(3) marginal rate of technical substitution equals interest rale

(4) marginal rate of technical substitution equals the ratio of marginal pro-
dustivity of labour and capital

@m@mmwﬁmmmﬁﬁmmmﬁmmﬁm

(I]ﬁﬂﬂﬁmtmﬁﬁmm{ﬁﬂaﬁmaﬁaﬁ
(Z)M@nmﬂMamm#mqﬁaﬁ
maﬁfﬁ‘:ﬁmﬂmmmﬁ % WL 7 ) I
(4]mﬁmﬁmmm1ﬁ@ﬂmmm%waa
e A B IR
(8) : (Continued)
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15. Amngeﬂ:epmpmtsafthnmrginalpm@ﬂivﬂy theory of factor reward
in chronological oxder

(a) J.B.Clark

(b) Marshall

(¢) Walras

(d) Jevons

Codes

(1} (@), (@), (b), (c) (2) (d), (c), (a), (b)

- (3) (@), (e), (d), (b) (4) (b). (), (d), (¢)

anr giafis ﬂimwmﬂma%mﬁﬁmﬁrmm(
()R ot T

(=) wwefer

(®) W

() =

ﬂa :

() @), @, (@), @) @) (), (@), (), ()

(3) (=), (w), (), (w) @) @), (=), @), @)

16. All of the following curves are U-shaped except.
(1) The Average Variable Cost Curve (2) The Average Fixed Cost Curve
(3) TheAverage Cost Curve {4) TheVitrgtimtGont Cyrve
Reafrier 3 & o awr geompirdugis £, Ram

(1) she bl st o e .
O Oamy
(9) |

s g« s

(Tiarn Over)



17P/239722 (1)

17. If the quantity of a commodity demanded remains unchanged as its price
changes, the coefficient of price elasticity of demand is

(1) Greater than 1 (2) Equaltol

(3} Smaller than 1 (4) Zero

Wﬂﬁﬁmﬂm@mmﬂm.ﬁmmmmﬁﬁm
€ F7R ve W T

(1) 19 it (2) 1% =t

(3) 180 4) %

18 Drine paid by the consumer for a product and the average revenug of the pro-

ducer are

(1) Different amounts

(2) Same amounts

(3) Same amount under monopoly

(4) Same amount under perfect competition

%m%mmmﬁaﬁaﬁﬁﬂﬂﬂﬁmﬂm AW T B

(1) i AR
(2) T T
{3)@ﬁmﬁﬁ:mhwnm

(10) {Continued)
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19. Average Revenue (AR) and Marginal Revenue (MR) are the same when price

20.

with saleufaddiﬁqg&l unit of output,
(1) Increases | {2) Decreases
. (3) Does not change | (4) Keeps ﬂﬁcﬂmﬁng

e 61 0 s e 85 et 1 ot T (AR) W SRR 3T (MIR) e g
T BT —— 7 a0 '

et T 0) wRh
(3) o T et 4 - (4) Iw AR B Teh @

The relationship between average revenue (AR) , marginal revenue (MR) and
clasticity of demand (¢) is given by the equation =~~~

(0 m=hﬂ(—?—] ) @) m-ﬁm{i‘-‘}
e-1 € .
(3) m-m(fil) (4) Both (1) and (2)

3red w1 (AR), Hinrs w1 {}dquéirhﬁ?ﬁa(eﬁ;wwmﬁqmm

) m=m[§i] | @) mm[fg_‘)
(3) AR=LE(E€-1)' ) (1) T 2y
‘¢11) ] S

(Zurn Over)
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21,

22,

23.

When the elasticity of demand is unity, marginal revenue is always -

(1) Positive (2) Negative

(3) Zero (4) Notknown

s i oy & w gt 8, dur s i B
(1)t ; (2) T

() = @) TR

In practice the reward paid to a factor depends upon

(1) lts productivity and the price of the product it makes
2) Value of its output minus profit tax
(3) General directives of the government

{4} Its cost and the price of the product it makes .

e & e ) R S awen aRets Pf w2

(1) s e @ 3 g i F PR wEm
[Z)mwlﬁlﬁﬁ (=} T R

(3) T T R PRt e
(4)mamqéanmaﬁuﬂmﬁm%mmt

When VMP, > MRP, > P, we have

(1) Monopolistic exploitation

(2) Monopsonistic exploitation

(3) Both monopolistic and monopsonistic exploitation
(4) Neither type of exploitation

s VMP, > MRP, > P, B & ®md

(1) TRl e
(12}

(Continued)
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28,

26.
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A firm will receive abnormal profit in the short run if

T T e & S ey w wh snm

(1) VMP>MFC (2) VMP <MFC

(3) VMP=AFC (4) VMP<AFC

The relation between rent and price is as follows :

(1) Rent determines price

(2) Rent hes nothing to do with price and is determined indepéndently
(3) Rentis price determined, not price detenining

(4) Indeterminate

¥ TH i & ey e Fferien yem i g @

(1) v Fma feife v 2 :
O ¥ &9 4 g ¢

(2) 7 w1 v & 5 R 741, o o
{3)%%&%&3%2:&%#%?@3
(4) sitivoha | o
Quasi-rent occurs because of the application of ﬂ:u: ﬁrinciple of
(1) Halfrent  ° : A T
(2) Scarcity rent o |
(3) Short-run inelasticity of suﬁﬁij;' Tk TR
(4) Frocgiftofnatuze... ., i
AT SR 36T R & i P g g g
(1) g o ' ——
(2) Feiv oy, S
G) = m%’ e
(4) VR T TR

(13) T

(Zirn Overy
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27,

28.

29.

The classical theory of interest lays more emphasis on

(1) Real factors (2) Monetary factors
(3) Liquidity preference (4) Time preference
T F T {ﬁm] firgra @@ 2w R

(1) aveafs o=l T (2) s w=i W

(3) Tw THE T (4) WY FEh W

Which of the following motive refers to holding money which is interest
etastic 7

(1) The transaction motive (2) The speculative motive
(3) The precautionary motive  (4) The real motive

e 3 a1 S 7 0 5 R T e R 7
(1) o FeG S (2) weeaEh = w"W
(3) T F1 W (4) i 3w

Which of the following is an impticit cost of production ?

(1) Wages of the labour

(2) Charges of electricity

(1) Tnterest on entrepreneur's Own capital

(4) Payment of raw material

et § & e i AARA T @t

(1) 0 & TR0

(2) fagd I
('_1,]@:51‘%‘[1311197.@" oy

() 7 T T

(14) {Continued)
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30. Theshape of which of the following is rectangular hyperbola 7

3.

31.

(1) Total cost curve

(2) Average variable cost curve

(3) Total variable cost curve

(4) Average fixed cost curve
miﬂmmmaﬁm{mMJN ¥

(1) 0 oFmr T

(2}mmmﬂwmw

(3) ¥ el e ey
. (4) sl o wvre T

The margiual rate of technieal substitution —— 83 we move- slong the
mquant from [eft to right. .

(1) Remains constant {2)rdncreanes. < . ...,

(3) Decreases g {4) has norelevance
et 6 2 e s o s e ) IR -

(1) R et 4 @) wht
Fwempn&mcreasempnmufaoomﬂwmw}(causﬁ uantity to datresse
Mmmm - t,,ﬂ,._,,m,,,mf,,,h__. >
s (2] 20 -

X ﬂﬂﬁm;ﬁéﬁaﬁﬁﬂ%ﬂ T ft

Ll R G ' "

(D3 (2) 20

(3) 4 (4) ¥ Bronf 78 Py

15 N
R L (Tizn Over
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33. The indifference curve which is L' shaped represents

M.

33.

(1) Perfect substitutability (2) No substitutability
(3) Perfect complementarity  (4) Non complementarity
g el w6 S ‘L' I A g @ v o @

(1) T S (2) @ TN T

(3) ¥ OR SO IR L

The curve showing relationship between change in income and the corres-
ponding change in quantities of commodities purchased is known as

(1) Price consumption curve (2) Income conswmnpiion curve
(3] Demand curve (4) Supply curve
m_ﬂ'ﬁ%mﬁw&mﬁﬁim'ﬁaﬁﬁmqﬁmmﬁ%m
e T WO WS S S e

(1) Hhra I 456 (2) ¥ I T

(3) i 5 OR L

MC =MR =AR = AC, this will happen

(1) In the short run under perfect competition

(2) In the short run under monopolistic competition

(3) In the long run under perfect competition

(4) In the long run under monopolistic competition
MC=MR=AR=AC THi &M

(1) ot s ¥ AT HEIHA §
(2) e SR & i SR
mt{g‘mﬁiﬁ‘iﬁm#mﬁﬁmﬁ

(&) R SR % e e i
(16) (Continued)
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36. 'The equilibrium prices of Duopoly model are obtained at the intersections of
their reaction curves' it is correct in case of

(1) Edgeworth's model (2) Bertrand's model
(3) Bertrand's duopolymode]  (4) Samuelson's model

"t e ¥ wifin T & W) R firg A Bl w7 v i ¥
T8 e & wd F i

(1) o wfem (2) T witEa
(3) T r gartvemTe e (4) vy whew
37. Howdid Keynes propose to solve the pm_blém of high unemployment 7
(1) Increase the growth rate of the mnr-ney supply.
(2) Allowwages to decline, se that firms will ‘want 10 hire more worlkess,

(3) Put on wage and price controls, s0 wages won't rise ahd firms won't have
to Iay people 61F to cit costs, '

(4 Have the gavernment increase its demand for goods snd services.
(1) % ) off 3 3 1 ) v

(3) vl @ w5 Hyma & e v e P R T v @
e s o T 1 S e s 70 A e

(4}mwmhmmm |

(17) (Zirn Overy
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38. 'Which of the tollowing will occur as a result of an improvement in techno-

39.

logy ?

(1) The aggregate demand curve will shift to the right.
(2) The aggregate demeand curve will shift to the left.
(3) The aggregate supply curve will shift to the right.
(4) The aggregate supply curve will shift to the left.

Rafafes € ¢ 337 geite it & oforeres 3o @m ¢

(1) 7o ot 5 2rff oM frenfm gm 1
(2) wam iy 9% @t SR Rwenfe g 1
(3) T gff 3% 2Zwft ai Rwenfia B |
(4) T it =3 s iR fresnfa g )

Which of the following workers is most likely to be classified as structurally
unemployed ? -

(1) A high school teacher who is unemployed during the summer months
(2) A recent college graduate who is looking for her first job

(3) A teenager who is seeking part-time employment at a fast-food restaurant
(4) A worker who is unemployed because his skills are obsolete

A 2 7 2 2 S & 0 3 A i ek o 7

(1) 3= e 1 e fireres <it il 3 sndit 3f akrommre v & 4
(2) T T A T S o v A A e R

(3) o famte < fht wree T YA F syt A0 @ AR
() T 4 3 I e s G 9 T 0 A R

(18) (Continued)
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The permanent income hypothesis that establishes relationship between
permanent income and permanent consumption srgues that the relationship
dependis on. '

(1) Rete of interest, future expectations and taste & preference

* (2) Rate of interest, ratio of non human wealth to income and taste & pre-

ference
(3) Rate of interest, transitory income and taste & preference

(4) Rate of interest, return on human capital and taste & preference

Wl SR R Sl SR A G T e i e T o A
mthmmmﬁhﬂmﬁuﬁm;

(1) = , WP ) sy, SR o ofins |
(2) =T =, R-77= Towt v o 1 AR o el g R

| (3) e , W SR AR

(4) = &, M we v od fveR T s

According to the I{e}msiah nﬁdel, equilibrium uut;;uf of an economy may be

less than the fuli-employment level of output because at full employment

(1) Sufficient ineome sy YOt b eridiatiad 1o keep wotkers abovs the subsis-
tence level '

(2) There might not be 'mul.i.gﬁ demand by ftﬁn-sfaﬁd l:onsumers to buy that
output '

(3) Workers may not be willing to work the hours nécéssmy to produce the
output

(4) Interest ratéé migﬁt not be-l:iéh enough to provide the inc;:nﬁvc
ot to finance

e

2 (Zurn Ovey)
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it yreg & ran fadt sfsracn § @ IR T, T AR I W
4 o ) et § w0 T VTR ER W

(1) #firt F1 e Py W0 & R e A % 7 wie o w g T R
T T |

{Z}ﬁ@mwmﬂ#mﬁ%mqﬂhwﬁwﬁﬁmﬁr
(3}mm%mmmﬁmmmﬁmmmﬁrm1
(Mmaaﬂmaﬁammﬁﬁmm#ﬁﬂﬁmﬁamﬁﬂw#ﬁmu

42. 1f the Reserve Bank of India lowers reserve requirements, which of the fol-
lowing is most likely to happen to interest rates and nominzl gross domestic

product ? .
Nominal Gross
Interest Rates Domestic Product
(1) Increase Decrease -
(2) Increase Increase
(3) Decrease Decrease
{(4) Decrease Increase

uﬁmﬂﬁﬁm@ﬁﬁmﬂwﬁmmtﬁmaq&mm
< & P T @ R ufw A P e afew Bt 7

ik S L
(3% #
(2) T kL
(3) =R =i
(4) 7 L1

(20) (Continued)
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43, Supply-side economists argue that

(1) & cut in high tax rates results in an increased deficit and thus increases
aggregate supply

(2) lower tax rates provide positive work incentives and thus shift the aggre-
gate supply curve to the right

(3) the aggregate supply of goods can anly be increased if the price evel falls
(4) increased govemnment spending should be used to stimulate the economy

o v snfmeh e §
rnmmmﬂmmﬂmtqumq&mm

(z)mﬁmuww!ﬁuqﬁraﬁmﬁamﬁtmm'ﬂimﬁm

{3)aﬁaﬁuﬁlmqﬁwwrmmtmﬁnamﬁﬁmzﬁl

T A R e W 7 1 g 'F'-v-—.-dq'_n:,__-_

(4) et = gy e b ) s 520 & o Pt s |

44. Which afﬁawmmcmmmm?

(1) Other things remaining unchanged it deqgreases 25 the stock of capital
increases
(2) MEC is positively related to the series of ampiicn expecied from the

. e oy,

(3) MEC is drawn on the assumption that supply price of capital asset is
T IR s T TR

variable T e——
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45,

?Iﬂuiu'mn{MEC}%EiﬁﬂﬁaﬁqmmBﬂﬂ!?
(1) ¥ 7 T T W goht v af ¥ o g ol o @

(2) o o o (MEEC) S e e g e s 1 el a0 s
B T B R

(3) TWo Bo Ho m]wmmmﬂﬁtﬁﬁmmﬁﬂﬁ’ﬁm
(variable) ® 1

(4) TR o %o o MC)Waﬁmmtﬂmﬁﬁmmﬁmtl

Assume that last year the consumer price index (CPI) wes 150 and a house-
hold's nominal income was Rs. 30,000, I the CP1this year is 160, to be as well
off as last vear, the houschold should have an increase in nominsl income of

()Rs.1,800 () Rs. 1,875 (3) Rs.2,000 (4) Rs. 4,800

maﬁﬁaﬁaﬁm@-mmmoq&mmﬂmm
30,000 % #ft | 7R W@ T (CPI) 160 & v % o e o # Rt 7 o
e e - & W o e T 8 7

(1) 1800%  (2) 1,875% (3) 2,000 % (4) 4,800%
As.per IM Keynes variations in the bank rate influence economic aCHVity
through their impact upon

(1) Short Term Rate of Interest

(2) Long Term Rate of Interest

(3) Both Short & Long Term Interest Rates
(4) Hasno impact on the economy at ali

(22) (Continued)
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a\nmh%mhﬁﬁwﬁaﬁm&ﬂmmﬁmﬁa
TRRRAT %)y weh 4 7

(nmmmﬁ.

(2) Sefwrel ey =

(3) sl o St s o¢
(4) yndowmr W @ o ol wert

j %khaf&eﬁﬂ[nmwnminﬂwmmmnm?

(1) The government's announcement that it will increase spmdmg on infra-
Structure

{2) The RBI's announcement that it will stcadu!yrnisctlwﬁmdsrate
(3) An inmasc.h:ﬂw?lhﬁoﬁw

{4}Aninmasainthemmeysupp!}'

mﬁﬂﬂ:ﬁﬁmﬂmﬁﬂm 4

mmﬁuﬁwﬁmmmﬁmaﬂw

(2) 3 o s 1 o 5 20 9 8 7 & B
()Rl b e ofy

OmA iy

ffﬁwhmmmﬁmmmmmms@l?
wi to

(1) Stagfition (2) Structurl inflition
(3) DERERG-Sie milation (2 Supply-side inflstion__
"

(Tirn Over)
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49.

a2 sriwEen T Fo Do T (CDP) M e R B X A T R 3 7l =
wftenn Fav g 7

(1) HaEgI FhiR (2) T e
(3) wtn wefia whf (4) off wafig THfR

Allocative efficiency refers to a situation where

(1) We canuot produce more of any one good without giving up some other
good.

(2) Goods and services are produced at the lowest possible cost and in the
quantities that provide the greatest possible benefit.

(3) Opportunity cost is zero.
(4) Opportunity costs are equal.
s 4 v T feufy R e & o

{l]ﬁﬁmwaﬂﬁmﬂ@ﬂﬂﬂﬁmmmmmﬁw
" | .

(2}a@ﬁqﬁﬁa1aﬁ#mmmmﬁaﬁmmt s ¥ e R
et & forerdy ot @ R

(3) e e TR |

(4) vraa A T

(24) (Continued)
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Accurdmg to the classical model, an increase in the money supply causes an
increase in which of the following in the long run ?

L Real gross domestic product

1. Nominal gross domestic product

lll. Nominafwages
(1) Tonly (2) Honly
{3) M only (4) Il and 1T only

el e & s g A o § oy Pt 3 Ak gl ww R
it 4 7
L awis wwe wie] v

0. e wwr g 7w

1. s wagdt

() %=1 . (2) W= |
(3) &=@ 11 (4) e [0 3

Which of the following everits will definitely lead 0 4 Tcréase in the equi-

librium interest rate ? |

(1) ﬁdminthb level of output (real GDP) . S

(2) The ent securities by the Rmm'veﬂaniﬂf India

(3) An increase in the lcvcl of outpuf (rem'tﬂmmw nthe
moncy supply |

(4) The sale of guvernmm: Sﬁﬂﬂl’ﬂlﬁs hy;hemq

Referidr ¥ & R won/fm el & ans Fufy woht 2

(IJWW (mmumu‘ﬂn)ﬁm
@) mmﬁmuww ———
(3) e Lo g 6 9 ¥ 9
mmww N

= o

25 .
. @ S
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§2. An increase in total production (real GDP) causes the demand for money

to and the interest rate to .
(1) increase; increase (2) increase; decrease
(3) decrease; decrease @ decrease; incrcase

ﬂﬁm{mﬁoﬂntﬁn)ﬁﬁ@ﬂmﬁfﬁmaﬁ——

GG
(1) 3fe; e (2) Tfe; #=h
(3) wwlt; et (4) = 93

53, Expansionary fiscal policy will be most cffective in increasing real gross
domestic product when .
(1) the aggregate supply curve is horizontal
(2) the economy is at or above full-employment output
(3) transfor payments are decreased, while taxes remain unchanged

(4) wages and prices are very flexible

m@mﬁmﬁﬁwwuﬁmﬁﬁﬂﬁﬂmmﬁ
et 2 99

(1) w i 7 dfe 8
{z}nﬁm?ﬁmnmﬁﬁgmmmmt
(3)gamwnmﬁmmtmmﬁﬁmﬂaﬁﬁﬁ?;ﬁmm%

(26) (Continued)



4,

55.

17P/239/22 (1)

Which of the following policies would most likely be recommended in an
econouy-with an annual inflation rate of 3 pernentaudanunmnpluymcntrate

of 11 percent 7 . |

(1) An increase inumferpa}!ﬁéﬂbmimrinminﬁerﬂaﬂvﬂmquimmmt

(2) Anincrease in defense spending and an increase in the discount rate

@]Aninmwelnin@m-ﬁxfﬂmmdudminﬂmmmﬂqnﬁumm

(4) A decrease in the tax rate on corporate profits and a decrease in the dis-
count rate '

' ﬁmﬁ%mmmmmﬁmmnmm-

ANz 3 wfm.an Sdend 2 11 vRa g ?

(1) Ty A 9 o Y s d gfy

(2) v =0 K 9fy v e g ofy

(3) 30 T T g T Hv o v §
[4)ﬁmmﬁmmﬁmﬁmﬁmﬂwqau§#qim

Supposc that the céonomly is operating at full employment. Lf the govemment
wants to discourage consumption spcndmg, stimulate investment spending,
and maintain fulbemployment owtput AgJollowing conibinations of
monetary and fiscal pulmies would most hkﬁly achlmf: thest Foals

(1) Iﬂmmmey L Increasegnvmmmﬁspcndmg
(2} Increasemoney ~ Increase personal income faxes
&) me-‘mﬁﬂ!—‘w%pc;hﬂs
(4) D;Grfa_a_sf money Decrease personal incomé taxes

(27} r——
(Zurn Over
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T i i srdegaar g fag W fRm & | 9l o wER i =1 @
weaiiya =, FRw wa § gy am an Ol Jom ST 7RO S T
gt & A g7 PR A o veEE iR S 9 R g g § e .
wift ?

wiiees fifa ToE AR

(1) T B 9 & 9 o = # 9y
(2) ger & ofd # 3% fieft o =t o 9fg
(3) e 61 gfe § el = & i
(4) v =B ofd it it = O et

56. Which formulation correctly represents the nef investment as per the flexible
accelerator theory of investment 7 Here /= Net Investment, ¥ = Output, K =
Stock of Capital, B = Accelerator Coefficient, 5 = Rate of depreciation and
t = time
(1) £, =B(¥-1.)

[2} j'l ‘_‘ﬂ(}; "}:—I)"'" B KH
{3] Ir =ﬁ(ﬁ-t -}:-1]
(4) Both (1} & (2)

AR § 2 B TRER 0 TG % AR Tg aw & v I 3 Fref
= & 7 o6l [= 4o PR, ¥ = 3, K = I e, B = o g, 5= @
S, = ' .
(1) L=8(¥-1..)
@) 4 =B(Y -1 )+8 K,
(3) 1, =B{Y %)
@M@ @
{28) (Continued)
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If the consumption curve isdramﬂn'oughthem-igin

(1) Consumption and income are the same

(2) The marginal propensity to.consume is equal to Average propensity to
consume

(3) The marginal propensity to consume will decresse s incoms increases

(4) Autonomous consumption is positive

R i 7 R A i @

(1) a0 & @ Fw B d

(2) ¥y e gyl e, sl 35 g 2 4 |
(3) 3% % 1% % ww fwiw 39 wfty woht |
(4)amﬂmﬁmmema r

Which of the following would i increase thu value-of.the simple spending
multiplier ? a

{I)MWMWM@
(2) Anincrease in exports
4 Aﬁmm;inthcmmgjmmm},mmw

PR 33 9 T o v 5 3 o 7

(emli=gigl st
(2) Faia 3 3fg.
(3) Towrl A v o e
(4) v wan v wlt - |
= —‘\\
(29)
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39.

60.

If no foreign companies produce in a country but many of the country's com-
panies produce abroad

(1) The country's GNP will tend to exceed GDP

(2) The couniry's GDP will tend to exceed GNP

(3) The country's GNP and GDP will tend to be equal

(4) No valid conclusion abcut GNP and GDP could be drawn

7§ fdeh et R 3w s e § g Yo B gy o el R
§ gefen wadl & @
(1) 30 F1 Fo o Hlo (GNP) T Hto G P (GDP) 3 S W1 |

(2) 21 %1 o Fo Fo (GDP) % o To To (GNP) & 3Hfien & |

(3) 20 & S ¥ Ao (GDP) T o To Flo (GNP) TR TR T |
(4) Fo o o (GNP) W o S Hto (GDP) % men 8 otz fewd T

freren s @t B |

Which of the foflowing statement about the Real Business Cycle theory is
false 7

(1) It argues that trade cycle is caused by supply side factors
(2) A very popular version of the theory has heen given by Kidland and Prescott

(3) Itargues that increase in supply of money can cause cycles
(4) 1t treats technology shock as an important factor for emergence of cycles

maﬁmmwﬁzmiﬁﬁuﬁﬁmﬁﬁﬁﬁﬁaﬂ: T FYH T B 7

{!]ﬂﬁ#iﬂi%ﬁmﬁtﬁﬁq&mmﬁﬁmﬂﬂm% |
(zmmwﬁwmmmmmawmmi

(S}ﬁﬁimi%gtﬁtﬁéﬁqmwmaﬁaﬁmmmtl
(4}@Mﬁmﬁmwr{ﬁmmﬁmm@im el

(30) {Continued}
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=K

61 The inverse ofthe fimction £: R — [x € R : x <1] givenby S=5==

R | @) 3 e

G) 5 hu-:ﬁ | @ Nmof;e

R R ww S R [xeR: 1{1]Jﬁlﬁ f(x}-” | mqmﬂﬁm
(1) 3 loght (2)--108-23

® 3 CRLALELE

62. If F:R-R,isgivendy f(x)m s’ +3»thenf"1.(x) i equgl to
W SRSR, £ () m 343, B o) B B

(x"-3 (2)3?+3 G e~-32 . @) x+@ye

63. Letf(x)=x ’heafunmonwm:lnmam{ﬂlﬁ}ﬂmdmamoff-'
o i

fﬁ‘ﬁt%ﬂf[x} xiigﬁmﬁﬁa{m,z,s}ta?f' wﬁﬂqm

_alp——

H
() 3,2,1,0} ) {0,-1,-2,-3}

(3) {0, 1,8, 17} & 70,-1,-8,-27)
(31)

T ATirn Over)
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64. For given production function P = ¢ (K, L) under Constant Returns to Scale,

65.

Euler's theorem will be

R % o ¥y R W SRR $eE =g (K, L) % f e s g

P 8P ' oP aP
(h p aKu’K+aLdL (2) 'ax +aL

apP aP ar oP

kil el 4} Pc— —dL
(3) P}aKdK«!»aLdL (4) "axdx"a:,

LY _x

(3) [r-i—-;] {lﬂg(l"{'l] x+1}
y i 1

(;-r»-i—] {E@(H:}Hl}

(32)° {Continved)
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If f(x)=+/x*-10x+ 25 ,thenthe derivative of /(x) in the interval [0, 7] is

M1 @) -1

(30 {4) None of these

67.

B W fix)= 2 10x+25 ¥, www [0, 7] ¥ A=wiE wem @
Fera e

(11 | 2) -1
(3)0 (4) TGE | iﬁl‘i it =t
Lf.t[_l—.n‘l &= . 3 G B,
CANSY Y T g———
() 2 QWA G) @ e
2t +3x+ 5k =
| ﬂf( £ &

3. '
) 2
g

el g

.

R ——.... :

—

. —— (33)
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69.

70.

71.

72,

_ i 1
If f(x)= e

then its maximum value is
+2x+1

Rt M wem f(x) = w1 sifreRad W B

4 +2x +1
(1} 4/3 (2) 2/3 ()1 (4) 3/4

The function f{x) = 2x" —15%* +36x+4 ismaximumatx =

R T BE £ (x) = 22° —15x% + 36x + 4 Sferman A @ x =

()3 (2) 0 - (34 4?2

The sum of two non-zero numbers is 8. The minimum value of the sum of
their reciprocals is

(1) 1/4 {2) 112 (3) 1/8 ' (4) None of these
2 ey e @ A 8 | 5 Femsll ¥ A w5 R F I T
(1) 1/4 212 . (3) 118 (A =R Tl

For given function U =X +y ~3x-2Ty+24, minimum value of U will

oceur at point

R ™ wer U;x’+}'3—3x—2?y+24 EUWWWE‘W

(1) (-1,-3) (2) (-1,3) (3) (L,-3) @ (1,3

(34) (Continued)
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IfAis3 x 4 matrix and B is a matrix such that A'B and B4’ are both defined.

- Then B is of type

R 4 A 3 x 4% v R 7 Aww B ¥ 48 ww B4 witnia ¥ & e
B Bit |

(I})3x4 (2)3x3 (3) 4x 4 (4) 4x3

[f'a matrix 4 mhuﬂlsymancandskcwsymmemc,ﬂm
(1) Aisadiagonalmatrix

(2) 4 is a zero matrix

(3) A is a scalar matrix

(4) A is & square matrix

R 7o 4w 4 oR wife ol A m @

(1) A o srrire ARmu ?

(2) 4 Tm T e d

(3) A & Ter Aftwm 2

(4) 4 TFvpar e - _ .

1fA=(j1 f:] and I=(; U then foF 4= 84+4 e value ok will be

-

IR A= ﬁi J‘ﬂﬂ]!gLﬁ dﬁJa’ulzsﬂu k 1 Wi g

(N7 e o =X S - (4) -3

R y —
(353 Gz Over)
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76.

77.

18.

If 3[3 4]+[‘ ”]:[? ”’] then value of x and y will be
5 X 0 1 0 3

34/ ) (7 0
qﬁz[s x]+(l} 1J=[1ﬂ 5]?“%}1%““@1‘1

)

D x=1y=3 @) x=2,y=5

(3) x=2,y= -8 @) x=1,y= -8

log;” log;
log; log;

The value of determinant will be

I.oggu l-.}gi

log; log,

) O B

(1) 15/2 (2) 2/15 (3) 2172 {4) 2121

For equations, 2x—y=17 and 3X+57 =6 , the values of x and y as pet
Cramer’s rule will be

R m wheol 2x-y=17 a0 3x+5y=6 W IR A x TNy % A
i

Dx=-3y=7 - Q) x=7,y=-3

(3) x=-1, y=-3 (4) x=3, y=1

(36) (Continued)
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79. Which one of the following is correst 7
(1) Median ~ Mode=2/3 (Moan - Mode)
(2) Median - Mode = 1/4 (Mean — Made)
(3) Medien - Mode = 1/3 (Mean - Mode)
(4) Median — Mode = 3/4 (Mean — Mode)

. Peafien # 3 Av TR 2
(1) Wi - ages = 2/3 (wmed - e
(2) Wi ~ g = 1/4 (Wie - agerss)

(3}#7&&'-!1;33; = 1/3 (wisq - wgemE)
(4) ST - MgE = 3/4 (A - )

80. Which oneof the following is NOT otrect sbout Geometric mean ?
Mt is very shnpleltu caleulste
© (2) tisrigidiy defined
.. £3) 1tis based on all observations
(4).1t is capable of furtheralgebraic treatment - -

e = 3 it ¥, Frafiries 3 & o a ¥ ¢

(1) vt TR R Ty e R
OmpEas T woet
(3) T o e W s
(4) T oA 2FRr WO R

(37) o (Tirn Over)



17P/239/22 (1)

81.

83.

Which one of the following relation is correct in general ?

(1) Arithmetic Mean > Geometric Mean > Harmonic Mean
(2) Arithmetic Mean < Geometric Mean < Harmonic Mean
(3) Arithmetic Mean > Geornetric Mean < Harmonic Mean
(4} Arithmetic Mean = Geometric Mean = Harmonic Mean

ﬁm&tﬁmm‘aﬁﬁﬁqmﬂmaﬁ%?

(1) aemmitrdr mer > safifes me > BUeHS ME
(2) Twmitrdty wn < fiioes wreT < WS WY
(3) Seiinta Areq > arfalie W < WeHe ATl
(4) STtnd e = St me = g e

Which one of the fﬂl]awhig is known as average of position ?

(1) Mean (2) Median

(3) Geometric Mean (4) Harmonic Mean
it Ra s S wi TR g 7
(1) M= (2) Wi

(3) vt arey (4) o W

Which one of the following is a formula for calculating mean deviation ina

discrete series 7
B # & 2 sveas 3o ¥ weg e H o F AR 7

£ fx B/" 3) B 4 LJd
(1]._{:_ (2) = 3) 5 @ 37

(33) (Continued)



17P/239/22 (1)

84. 1f Lorenz curve is a straight diagonal line, it shows that distribution is

86.

(1) Unequa! of low degree (2) Highly Unequal

(3) Equal (4) Unequal

7R Wit o v el T & o g et & e e

(1) = e (2) wg e v &

(3) v | (4) e R

Fora ftaciumcy dilsu-ihutian, mean, median and rlnodc are connected by

(1) Mode =3 Mean - 2 Median (2) Mode =2 Medien - 3 Mean

(3) Mode =3 Median -2 Mean (4) Mode =2 Mean - 3 Median

AR He ¥, WA, TSN 41 T amr_ﬂmﬁaﬁ_ﬁt

(1) g% = 3 e - 2R (2) e =;mﬁ‘ﬂm- 3w
.

(3) agF = 3w - 27y (4) e = 2R - 3w

If mean is 50 and standard deviation is 10, the coefficient of vardtation will be

TR Wreq 50 s s RATET-10 -t Retrer o gy~

(1) 5% - —~ZrTOW—~—__  (3) 200 = (@) 40%.

e
(39) —
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87.

88.

89.

Coefficient of correlation between x and y is directly proportionate to

(1) SDofx (2) S.Dof y
S5Dof »
®) $Dory (4) Covariance of (xy )
x 7Yy %mwmmwﬁm%
(1) x &7 e = (2) y &y Rem =
i faem .
6 Rl @) x @y % -
y H 9 Rsen :

The correlation bebween x and y will be zm if

X Ty %mﬁﬁhﬂmﬁaﬁnwﬁa |

(1) Var{x)=0 ' (2) Var{x)}.Var(y)=0
(3) "Jar{y}f-(}l i {(4) Covar (3)=0

If points on a scattered diagram do not show any clear trend, we conclude that

(1) Variables are highly correlated

(2) Variables are positively correlated

(3) Variables are negatively correlated

(4) Variables are not correlated

ofy frd R W ¥ frg 9 o R T8 R ot v ux e e X e

(1) = # 7= vgmaEy §
(2) T # qeHs gewE ¢
(3) =il # e TEwE 3

(4) T & weaa T}
(40) (Continued)
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90. Iftwo regression lines {punxand:uny}cuteachanothﬂrat right anglés, the
two series are

(1) Not Correlated (2) N;:'gatively correlated
(3) Positively correlatsd  *  (4) Highly correlated

WY wmTEE (yonxdMxony) @& W wEm w AW, A
yaemd sy ¥

(1) vmirm it 2) mmﬁﬂmﬁéﬂ
(3) e § e & {4}'#@%”!"-
S1. With reference to Price Index Number, if 5, x B, =1, which test it satisfies 7
(1) Time Reversal Test {2) Factor Reversal Teat
(3) t-Test (4) Circular Test N

o g & TR, 2 2, xRy =1 @ @ ¢ o ol B g} 7

(1) Peswmalam (2) o T v
(3). 8-ulem ) (4) ohR SO
92. Wmmmmaﬁﬂwmgfmuhmﬂmm?
B =3 100 |
By e
) 3 e et ST i
(1) Fisher  (2) Bowely () Laspeyt® ™ (4) Paasche
- it i o

(41)
: (Lo Over)
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93.

04.

95,

IR g U W & et g el R 7

ﬁt" = Ell'l}lq{l Xlﬂﬂ
1o

(1) Fem (2) 9= (3) AEFR @) T

Harmonic analysis method is used to detect

(1) Cyclical variation

{2) Irregular and cyclical variation

(3) Secular variation

(4) Irregular vatiation

whem 27 e Rty Ao 2 @ = 3y v R o R

(1) =i vfmds

(2) afrafie vd wh vhads

(3) Hrdret: TR

(4) sFFrafim TRads

Fram a hag containing four black balls and five red balls, a draw of three balls
is made. What is probability that all of them would be black.

v e 8 ¥, Pl wr weh @ oY we W R, 9 W Rt o R ow e
£ 1 B & & ot R e 2 7 |

() 253 (2) 1125 (3) 121 @) 3/22

In a box containing L00 bulbs, 10 are defective. What is the probability that

out of a sample of 5 bulbs, none is defective ?
v A & 100 == &, el 10 779 gy @ | Y0 wm 6 i T woh R

ﬂﬁSEﬁ%nﬁWﬁﬂﬁiﬁmm;ﬂg| |
(1} (9710Y 2) (910) (3) (10) 4) (127
(42) (Continued)



96. IfinaBinomial Distribution, n=4, P[X = 9]—

17P/23922 (1)

=, then P [X=4] equals

WRRImPRn=4G@ P(X =0]= E—.WP[X-#}WW

(1) 116 @) 1/81 G 127 @) 18
.+ Which of the following plans witnessed the highest gowth rate in India ?
(1) Ninth Plan | (2) Eighth Plan
(3) TenthPlan (4) Seventh Plan
ﬂﬂﬁm#ﬂmmiiﬁmq&mi@rﬁmt 7
(1) 7t T (2) et Do
(3) wodt Qv - (4) o Qe
What is perspective plannin g?
(1) Overall appraisal of planning

Q}Rﬂﬁmﬁmﬂgmﬂwﬁﬂds S sk
(3) Taking up part experience and reviewing the future in that light

(4) Planning MMNHMMMM f develop-
ment in the country

wofl e wrd 7 R T —
flimwmm | N
(2}ﬁﬁniﬁfﬁﬂ$rrﬁm —

O ﬁmﬁﬁmﬁwmm}mm

8
() Jurn Over)
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99. ECOMARC is a symboi related to

(1} Export goods

{2) Import goods

(3) Goods safe for environment
(4) Best quality goods

THIHT S s weiaa g ?

(1) Pt gt @
(2) s et B
(3) wataeor 3 for gl agadt @
(4) Tl TR aTel weg @

100. Whe formulated the ‘People Plan' for India in 1944 7

(1) I.L. Nehru

(2) M. N. Roy

(3) Subhiash Chandra Bose
(4) Mghatma Gandhi

Tt 1944 3w % fe ‘wen Ao’ el AR A ?

(1) o Tlo T
(2) Wo To T
(3) oy o
(4) TR midh
(44) (Continued)
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101. Arrange the following committes in chronological order from the given codes
() Kimsro Committee |
(#) Dantwala Committee
(5 Nersimham Commitiee
(fv)imlmi:ommim

Codes :

M O, @0, @) ), @), 0 @)

(3) (@0, (), Gv), G &) G, G, (), Gv)

Pfirten wfddt o) A2 oy o 0 ) e @ e w0 st
GLL L . mrp—
Lot o B

{iv) ST Hd)

(1) (2, @D, G, Gy = - e
@D O, ) O e, _ ’

(3) (@), (. (), (it | .
@) G, @D, @, ) T T—
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102, Identify sources of agricultural credit in India from the codes given below

() Commercial Bank
(#) Money lender

(iif) Regional Rural Bank

(iv) Small Industries Development Bank of India

Codes ; '

(1) (9, (#) and (i) (2} (i), (i) and (iv)

(3) (i), (v) and (i) (4} (3), (iD), (#i) and (M)
A3 R g A B W H R A A @ owe A

(5 ﬂﬂﬁﬁﬂi h‘ ‘

(if) WgFR

(1)@ gmsfor &%

(iv) WTT TY I T ofek
LT

(1) (9 iy (i) (2) (), Gif) 3 ()

(‘;} iff), () (D) (4) (), (i), (i) she ()

103. The cxchange rate is kept the same in all parts of the market by

(1) Exchangearbitrage " (2) Interest arbitrage

(3) Hedging (4) Spe:culatiﬁn!
m%mmﬁﬁﬁﬁﬂwaaﬁﬁmﬁ;wﬁmwmt t
(1) fafa faamm (2) =ar o

(3) ¥ (4) T

{46) (Continsied)
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104. Components of HDI are

(1) Longevity

. (i) Infnt Mortality -
(iiEducational Attainment
() Decent standard of living

Codes .

(1) ), (i) and (i) are correct
(2) (i), (%) and (iv) are correst
(3) (10, (1) and (i) are correct -
(4) (@), (i) and () are correct

o B Ao (HD]]% Liire B

OR

(iR x
{iiytRes Tomfi
(ivymatie e =

0.0 bt Fr—
(2) (9, -3 (o) h
(3) (1, () o () wh 8
(4) 0. 1) 9% () W ¥

e

(47)
(Turn Over)
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105. Which of the following is true with respect to the monetary approach of balance
of payments ?

(1) It views the balance of payments as an essential monetary phenomenon,

(2) A balance of payments deficit results from an excess demand of money in
the nation,

{3) Abalance of payments surplus results from an excess supply of money.

(4) Balaace of payments disequilibrium are not automatically corrected in the
long run.

AT Hger & MR 3w ¥ ey § Pk f MR e R 7

(1)'4R TR HqeM = sFme: D v & w9 fgm |

(2) e weger 3 e g gg1 A SR Wi % G g |

(3) wicks YPram Tger g1 H AT S & g R

(4) YT Wer i STegee 4w § e w9 @ i Tl fam i
106. According to Mrs. Robinson, the stage of ‘Golden Age'

(1) Capital growthrate > Labour growth rate

(2) Capital growth rate = Labour growth rate

(3) Capital growthrate < Labour growth rate

(4) Capital growthrate > 1

st TR ¥ TR, & gn (M ) # IS

(1) A& > P

DRk SR Skt

@) fhafer < ML

(@) e ® > 1

(48) (Continued)
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107. An agreement between two countries to maintain s free trade area, a common
external tariff, free mobility of capital and hhourandmma degree of unifi-
cation in government Pﬂliﬁles&ndmunemy_ policy s called =
(1) Commeon Market '

(2) Free trade area

(3) Bconomic Unian

{4) Customs Uniocn

5w SR 9 3 T afk Wy g 3R, ot ok o ) S i o
mmmmmﬂwmmmm' forq & 3wt & A9
o 19 WR % w0 e

(1) Wi arkz

(2) T& "R 43

(3) smidhs g

(4) Frimges T _

108. Productivity of Indian agriculture can be enhanced by
(1) Increased publicinvestment
(i7} Increased irrigation facilities
(#iHigher support price to the fammers. :

(iv)Shifting workers from industry to agriculture

Select the comeét Hiiswer from the given codes -

L) ;."i::'.".--ig._,,,-

(1) (), (i) and (iv)

) (D, (@ and (i) S— e
(3) (@), (iif) and (i) i

(6) W9, (hyand ) P

(49)
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Wi R s @ faRifem g wRn o w5 R

(1) T ¥eT AW Fea

(i) wfh gt R gl

(PR ) T wRdA TER

(iv)siat (sfas) @ 3am & Fi A R TR
R e g A W) I B T w

T

(1) @), if) st (iv)

(2) (1), (i % (i)

(3) (1), (i) ¥R (iv)

(4) (fid), (v) 30 (3)

109. Stolper-Samualson theorem postulates that the imposition of tariff by a nation
causes the real income of the factors of nation’s

(1) both scarce and abundant factors to rise

(2) abundant factor to rise
(3) scarce factor to fall
(4) scarce factor to rise

#Imdgmmaﬁmtﬁﬁﬁwm{mﬁmtmmm%
miﬂ%aﬂﬁiﬁmﬁmmﬁﬂmﬂﬂmﬁﬂﬁﬁi

(1) &t gt v e wet e
(2) ¥ A &5 &
(3) e W % w

(a) 0 o &

(50) : {Continued)
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110. Whiuhuftheﬂ:ﬂuwingismdtwdndﬂ:mmdumnofwﬂmodelafm
nmﬂcdemlﬂpnmﬁnlndia?
{l)Dr.C.R.mw:m
(2) Dr. Montek Singh Ahluwalia
'(3) Dr.Amartya Sen
(4) Dr. Manmohan Singh

m:ﬂﬁmq&%tﬂu%%m%mw Bu Prefeine 2 3 fasd R
e : '

(1) ¥ s TRRM

(2) %o wiew fitm amecqanferar
(3) ¥ 3w B

(4) %1, 7wt fiw

111. Jan-Dhan Yojna concerns
(1) Credit
(2) Tax payment ' ~ e
(3) Benk daposit
(4) Insurance premium

o A 2 ol T

(1) mwr

(2) = o
(3) &5

(4) e e
3 P— _—-....____“h SR
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112, Anovervalued Indian rupee in the foreign exchange market will have which of
the following consequences ?

(1) Make imports cheaper and exports costlier.
(2) Make imports costlier and exports cheaper.
(3) Give protection to domestic industry against foreign competition.

(4) Wil improve balance of payments,

mﬁﬁﬁwmﬁﬁﬁmﬂmmmmm_ﬁﬁmmm
W

(!memmmmam |
(2) v wgm g o Faia wwan @ |
(3) wite i Rt wfvere & oeon i |
(4) Wram Hgew ¥ U T |
113. The terms of trade rafer to
(1) the excess of import expenditure over export eamings
(2) trade agreement between two nations
(3) the ratio between export and import prices

(4) the terms and conditions on which & country is offered loan in the event of
BOP difficulties

= £ v =R s Pt 3 A R R 7

(1) fafa 31 & AT =7 F A

(2) Q) TG % ¥ SRR

(3) frafa @i s Hedt F A2 7T
{A}émﬂaﬁtmﬁqmﬁﬁﬁmﬁmmﬁmﬁﬁﬁﬁm

oy T B
{52) (Continued)
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114, 'Plan Holiday' in Indian planning is identified with the period
wrefia frdrem o a’iam W fem wafr ok ¢
(1) 1966-69  (2) 1979-81 (3) 1985-87 (4) 1991-93

115, 'Maks in India’ campaign aimed at attracting induxh'mlistalomakclndmn

Global Manufacturing Hub wes Isenched on

(1) September 25, 2014 (2) March 20, 2015

(3) February 25, 2016 (4) December 30, zeﬁs

e ) & ket 3 ) % Ry o 9 s v B w2 S
F YR siam @ R R e foan e 7

(1) 25 fwwsm, 2014 (2) 209, 2015

(3) 25 waht, 2016 (@) 30 ﬁumw;ns |

116. Full demographic dividend will be realised when Eﬂ‘f‘u_' _frpmmqjm
(1) More social secirtty (2) More iterisiv siowar
() MoroskiliGevelopmont (4 Mososepitat mests.

wm-mmmﬂmthWWE 7
(1) sifirer wmnfres g ) 3% e

(3) ofrr dow A .. (4) s 1l g

g (339 _
m’"’l Ob'zr)
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117. Match the following :

Listl . List-1I
(A) Bombay Plan () SrimanNarayan
(B) Gandhian Plan (i) M.N.Roy
(C) Peopie Plan (iif) Jai Prakash Nargyan
(D) Sarvodaya Approach (iv) Birla and Tata Group
Select the correct answer from the codes given below : |
_ Codes : |
@4 ®B © O
(1) () (9 (3
@6 @ @ @)
3y Gin G ) @
@)@ (vy (@) (i#)
Fraffirs = ot AR :
gh-1 - oli-Tl
(1) 9F& = () o T
- (2) miefiE () T T
(3) $gem == ({if) FAVERT A9
 (4) w3 () o e v e
Frafefied E@‘j QW I H G W ;
2 ' ‘ o
@ ® © O
(lj (i) (. (ii3)
(2} ) (i) (iii) (“’)
@an 4
wo @ (i

(54)

(Continued)
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118. 'Reserve Army of Labour' term was used by whom among the following

economists. |

(1) J.Schumpetsr  (2) J.R. Hicks

o) KalMax . (8 T.R Malthus

e o 1 i B 4 e b g o 7
(1) %o gofe | 2) 3 3 freg

(3) et | @) P

119. Which option is true for populstion dividend to menifist 7

() Wmﬁmmmw years is likely to increase.

(3) Population in the age g;roup between 15-64 years is Iikﬁy to increase.

(4) Pmlﬂwnmmoupabmeﬁi ymmi:kelymmmm
mmmmmmammfmm?

1 e N ey, -

[ljﬁ?ﬂﬁ_ﬂﬂﬁmﬁﬁﬁm#qﬁ:ﬁ#ﬁm%\.,
(2) 815 7 319 1 o i ) i 3 9% 9w

(3) 15-64 7 % _ RIR] ﬁﬁﬁmm
ﬂ‘fﬁﬁﬂﬁiﬁ i >
(4 634 3 T Y o gy,

(53)
(}hﬂ Gw.'r}
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120. Which of the following is the correct sequence of development of s2ctors in
India post independence ?
(1) Agriculture, Industry, Service
(2) Service, Agriculture, Industry
(3) Industry, Agriculture, Service
(4) Agriculture, Service, Industry

mmwﬁaﬁﬁwwwﬁﬁnﬁaﬁaﬁm%?

(1) Ff, sgm, ¥
(2) ¥, FiY, e
(3) 3&m, S, &
(4) ¥, &, 3gm

[56) B-2,600
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